14.2 More Practice with Derivatives
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Reminder of Derivative Rules:

. Old Rules New Rules '::
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Example 4z Consider the function f(x) = sin x + cos x for [0, 2m]. Analyze it without using a
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b.) Find the intervals on which fis increasing and decreasing and the relative extreme points

m
£0d= Lox+ —sinx 4 RAA . lmmw'%ﬂ q) LD L)
o bt "
G0 x =Sinx= ¢ o — T C{Q"ﬁw’ﬁ& 5
- ot 2 ' Tr
S s x=sinx S iy hb
I e+ 5oy LTy = "T"—r‘g.z—_b!’z e (‘Tq 2)
FOTN=-3 a5 ww (s, -02
&



Ty = coox—SI X
/f

Example 4 cont.: Consider the function f(x) = sin x + cos x for [0, 2m]. Analyze it without

using a GDC.
c.) Find the intervals on which fis concave up and concave down and the inflexion points.
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d.) Use the information from parts a through ¢ to Ekefcz the graph f.
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Example 5(a): Show how to use the second derivative test to find the x-coordmates of the .
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Example 3 (D): Find the global extrema of the function f(x) = x + sin (xz) on the interval
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